PERCENTAG

(7

CIGEE),

1.

TYPE-I
If x 1s 20% less than Y, then find the values of
Y-X ] X
— an XY

Y-X X
Ifge X, Y ¥ 20% &H %, qr T;ﬂ@
A

1
@ >

253

(SSC CHSLDEO & LDC Exam. 02.11.2014 (IInd Sitting)

1
1 4

If x is less than y by 25% then y exceed x by:
IfE x /T AH y& AW § 25% HH & @ y Rl
qHE x® qH W A 2

1
1) 3% @) 25%

2
() 75% (4) 66-%

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)

3
A student multipied a number by ginstead of

S
EWhat is the percentage error in the calcula-

tion?

wF famedt 3 fReh TEm %@Ww$

wms@%wwﬁwvﬁwqﬁsﬁ

i fRa 872
(1) 44%
(3) 54%

2) 34%
@) 64%

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)

4.

7.

The income of C is 20% more than B's and he
income of B 1s 25% more than A's. Find by how
much per cent i C's income more than A's ?

C &1 39 Bh1 3@ ¥ 20% ik € 9k B2
R Bl M@ ATl 3@ W 25% 3ifr 21 C
HT A, A oG ¥ fehad W etfues 22
(1) 150% (2) 50%
(3) 25% 4) 35%

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
If 60% of he students in a school are boys and

the number of girls is 972, how many boys are
there in the school ?

Ifs frdlt forener H e faenfeiel @ 60% @ &
IR Teindl i HE 972 8, 39 fowed H &
o e &2
(1) 1258
(3) 1324

(2) 1458
(4) 1624

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)

2
A person who spends 66 5% of his income is

able to save 1,200 per month. His monthly ex-
penses (in Rs.) is :

Teh AT &1 TIHT ST Rl 66%%@@%%

o ufd ®19 1,200 ®o =1 €| SHAT o4 Ffa
a9 (Fo H) -
(1) 1,200
(3) 3,000

(2) 2,400
4) 3,200
(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)

If x 1s 80% of'y, what percent of y is x ?
afg x, y 1 80% &, @ x T foha wfaerd y

g7
(1) 75%
(3) 100%

2) 80%
4) 125%

(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)
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10.

I1.

12.

A man gives 50% of his money to his son and
30% to his daughter. 80% of the rest is donated
to atrust. Ifhe is left with Rs. 16,000 now. how

much money did he have in the beginning?
Tk SAfeRd STUH ¥ T 50% W T A I
3R 30% W 37O P BT FaT B AW AT 6
80% T fehet o6 1 T fean < 21 o afg
39 Afe & 79 16,000 €I 5= &, T SED
T URH H R i ef?
(1) Rs.40,000 (2) Rs.800,000
(3) Rs. 80,000
(4) Rs. 4,00,000

(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 20.12.2015

(Ist Sitting) TF No. 9692918)

I£15% of (A + B) = 25% of (A — B), then what
per cent of B is equal to A?
g (A+B) &1 15% = (A-B) &1 25% 3I, T B
*1 fohad gfaerd A e 22
(1) 10% (2) 60%
(3) 200% (4) 400%

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

25
Ifx% of > is 150, then the value of x is :

25
S x%, 150 %, @ x &1 0 2-

(1) 1000
(3) 1400

(2) 1200

(4) 1500
(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
25% of 120 + 40% + 380 = ? of 637
120 <R 25% + 380 <hT 40% = 637 <A1 ?

(1) )

“4)
(SSC CGL Tier-I Re-Exam. (2013)20.07.2014 (1Ind Sittting)
I£50% of p=25% of Q, then P =x% of Q. Find x.
IS P AT 50% = Q T 25% &1 P =Q hl x% A
ENIELS
(1) 0.5
(3) 50

)

N 9

Q) 2
(4) 0.005

(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)

13.

14.

15.

16.

17.

1£20% of A=50% of B, then what per cent of A
isB?

afE AT 20% =B HT 50% 7, @l AT fehe
i B @7
(1) 30%
3) 25%

2) 40%
@) 15%
(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)

Given that 10% of A'sincome= 15% of B's income=
20% of C's income. If sum of their incomeisRs. 7800,

then B'sincome is:
feo 2 foF AT 3T 1 10% =B &1 379
15% = C 1 3T 1 20% &1 IS STl T
F I 7800 & B, A1 B I T BhA-
(1) 3600 (2) 3000
(3) 2400 (4) 1800

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)

P is six times as q. The per cent q is less than p.s
is

p.q¥ 5T 91 B q, p W Toher wiawr 4 €2

1
(1) 88-%  (2) 70%

1
(3) 635% (@) 50%

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
Half of 1 per cent, written as a decimal, is

1 9faerd & Y hl YHAD & ®9 § o

SITEIT—
(1) 0.2 (2) 0.02
(3) 0.005 (4) 0.05

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
If 40% of (A + B) = 60% of (A — B) then
2A-3B .
A+B s
I (A + B) 1 40% = (A — B) 1 60% I
2A -3B
% AE 2

A+B
7 6
(1) 3 (2) -
5 6
3) 5 4) 5

FCI Assistant Grade-III Exam. 25.02.2012 (Paper-I)
North Zone (Ist Sitting)
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18.

19.

20.

21.

22.

b+
I£120% of a is equal ot 80% of' b, then b—: is
Ife a1 120%, b & 80% & =R @,
b+
L R %

b-a

(1) S (2) 6

(3) 7 (4) 8

(SSC CHSL DEO CHSL DEO & LDC Exam. 11.12.2011
(Ist Sitting (Delhi Zone)
If 20% of (A + B) = 50% of B, then value of
2A-B |
1S
2A+B

2A-B
2A+B

I (A +B) I 20% =B I 50% &,
®T HH AT EAM?

1
(M @ 5

) “4) 1

(SSC CHSL DEO & LDC Exam. 11.12.2011
(IInd Sitting (East Zone)
31% of employees pay tax in the year 2008. Non-
tax paying employees are 20,700. The total number
of employees is:
T 2008 H 31% HHAMNE 7 T H1 FIAH
fRa1l ® 9 °F o WY SEHER 20,700 €
TETHN HUA 1 el W fonal 872
(1) 31,160  (2) 64,750
(3) 30,000  (4) 66,775
(SSC CHSL DEO & LDC Exam. 21.10.2012. IInd Sitting)
A team played 40 games is a season and won is
24 of them. What percent of games played did
the team win?

Th 39 1 40 B Wl SR 30 24 Sd| GEIER
39 I g S gu wWell w1 gfaer fema 22
(1) 70% (2) 40%
(3) 60% 4) 35%

(SSC CHSL DEO & LDC Exam. 04.11.2012 Ist Sitting)
If 125% of x is 100, then x is :
Ifg x BT 125%, 100 B, T x 1 AH FA1 M2
(1) 80 (2) 150
(3) 400 4) 125

(SSC CHSL DEO & LDC Exam. 04.11.2012. Ist Sitting)

23.

24.

25.

26.

27.

The enhanced salary of a man becomes Rs.
24,000 after 20% increment. His previous sal-
ary was
T A Bl 20% ATd(G W< B TR ST
I 24,000 TUC N AT | TEIER SEHT Id
o T en?
(1) 20,000  (2) 21,000
(3) 16,000  (4) 18,000

(SSC Multi-Tasking Staff Exam. 17.03.2013. Ist Sitting)
Two personsg contested an election of Parlia-
ment. The winning candidate secured 57% of
the total votes polled and won by a majority of
42,000 votes. The number of total votes polied

1S
T g g9g & fau g9 @gl 399 fasian
SHIRAR 7 ol T &/ Hal & 57% 7 9
R 3R 9% 42,000 Tai o foorl gail qeqER,
ot T T T F wE R o
(1) 500000 (2) 6,00,000
(3) 3,00,000 (4) 4,00,000

(SSC Multi-Tasking Staff Exam. 17.03.2013. IInd Sitting)

Given Ais 50% larger than C and B is 25% larger
than C, then A is what percent larger than B ?
e A, CH 50%9g1 8 3 B, C¥ 25%
sS1 8, @ A¥ B frad wfawa s=1 B2
(1) 25% (2) 50%

3) 75% 4) 20%

(SSC Graduate Level Tier-I Exam. 21.04.2013. Ist Sitting)

In a college, 40 % of the students were allotted
group A, 75% of the remaining were given group
B and the remaining 12 students were given
group C. Then the number of students who ap-
plied for the group is

Teh ohiast 40% H ST i g9 A fan =, v
® 75% i qu B f&@n a1 @ik 99 12 s @
qu C fean o qut & fau e w9
BEI H G B

(1) 100 (2) 60

(3) 80 4) 92

(SSC Graduate Level Tier-I Exam. 19.05.2013 Ist Sitting)

A box has 100 blue balls, 50 red balls, 50 black
balls. 25% of blue balls and 50% of red balls

are taken away. Percentage of black balls at
present is



https://www.print-driver.com/?demolabel-en

28.

29.

30.

31

wh fesa H 100 it M, 50 o et 3R 50
H M &1 25% el Tt TR 50% wre el
FierTel fIw MU e Tl Mell 1 9favE B-
(1) 50% 2) 25%

1
3) 3% @ 40%

(SSC Graduate Level Tier-I Exam. 19.05.2013 Ist Sitting)

In a big garden 60% of'the trees are coconut trees,
25% of'the number of coconut trees are mango
trees and 20% of the number of mango trees are
apple trees. if the number of apple trees are 1500,
then the number of'trees in the garden is :

Th wE § 60% Ug, AREAE & Us BREH
TREA & TS H G B 25% HH B IS §
AR M ® YS! HIEE & 20% TS B Ug B
TR, afs 99 & gl i ¥ 1500 3, q
39 9 § e Ul w1 g e 22

(1) 48000 (2) 50000

(3) 51000 (4) 45000

(SSC CAPFs SI CISF ASI Exam. 23.06.2013)
In the annual examination Mahuya got 10% less
marks than Supriyo in Mathematics. Mahuya got
81 marks. The marks of Supriyoare

Fftien qienm H HgeT ! v | giE 9 10%
¥ e firel| #gsT i 81 ik fiedl gimn =
F -
(1) 90
(3) 88

(2) 87

(4) 89
(SSC CHSL DEO & LDC Exam. 20.10.2013)
In an election, thre candidateds contested. The first
candidate got 40% votes and the second got 36%
votes.If total number of votes polledwere 36000,
find the number of votes got by the 3rd candidate.

T ga H oF Jenert 3 g asll wed
T T 40% R TR I 36% H el afe
Tdl i |/A WA 36,000 off A T TN i
fopa wa it 2
(1) 8040
(3) 9360

(2) 8640

(4) 9640
(SSCConstable (GD) Exam. 12.05.2013 Ist Sitting)
In an election, a candidate who gets 84% of the

votes is elected by a majorityof476 votes. What
is the total number of votes polled ?

32.

33.

34.

35.

Teh A9 H Tk IHISaR T8 84% HA 9wl gY
476 Al % wgHd § Feifea g 21 s Mg
Al 1 R T foha ® ?
(1) 900 (2) 810
(3) 600 4) 700

(SSC CGL Tier-I Exam. 26.10.2014)
25% of annual salary of A is equal to eighty per-
cent of annual salary of B. Monthly salary of B is
40% of the monthly salary of C. Annual salary of
CisRs. 6 lac. What isthe monthly salary of A ?
A% a1t o HT 25%, B & Atk oad &
80% % XX ¢1 B 1 Wik 9 C & AT
B FT 40% 21 C ] AR 9qT 6 @ ®IT
%1 AT AT S fema © 2
(1) Rs.60,000 (2) Rs. 62,000
(3) Rs. 64,000 (4) Rs. 56,000

(SSC CGL Tier-II Exam. 2014 12.04.2015)

(Kolkata Region) TF No. 789 TH 7)
A supply of juice lasts for 35 days. Ifits use is
increased by 40% the number of days would the
same amount of juice lasts, is

@ H gl 35 7 7k ot 21 A 3ge
TINT 40% ¢ S 8, d S H1 SO & A
forae 3 T <eril?
(1) 25 days (2) 30days
(3) 24 days (4) 27 days

(SSC CGL Tier-II Exam. 12.04.2015 TF No. 567 TL 9)
If60% of A=30% of B, B=40% of C, C =x%
of A, then value of x is
afE AT 60% =B &1 30% €, B= C &I 40%
%,ﬁTCZA WX%%,?ﬁXWII'FT%
(1) 200 (2) 500
(3) 800 (4) 300

(SSC CGL Tier-II Exam. 25.10.2015 TF No. 1099685)
In an office. 40% of the staff is female. 70% of
the female staff and 50% of the male staff are

married. The percentage of the unmarried staff
in the office is

Tt wrfe@ § W% &1 40% Ffgat &1 70%
Hfgel W SR 50% T&Y WH fadied @l
HETd § SRt % 1 gl a1 § 2
(1) 64 2) 60
() 54 ) 42

(SSC CGL Tier-II Exam. 25.10.2015. TF No. 1099685)
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1.

TYPE-II
Price of sugar rises by 20%. By how much
perecent should the consumption of sugar be re-
duced so that the expenditure does not change?

S *® gea o 20% *1 Ifg B T S R
@d fHa Ffae w0 61 SY aife 39 W gH
el @l e o g @2

(1) 20% 2) 10%

@) 15%
(SSC CGL Prelim Exam. 04.07.1999 & (Ist Sitting &
(SSC CGL Tier-I Exam.19.06.2011 (Ist Sitting)

What per cent decrease in salaries would exactly
cancel out the 20 per cent increase?

A § forad wfaerd et ®1 WU H1 98 o
o &1 T8 20 gfaerd 1 gfg I FHEW HX 32

3) 16%%

2
(1) 20% @) 165%

1
3) B3% @ 18%

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
Price of milk has increased by 20%. To keep the
expenditure unchanged, the present consumption
is to be reduced by:
T BT KT 20% §€ T T AF Rl IS A

T & fau adqE 3ua § feadl wH S
g ?
(1) 20%

2) 18%

G) 1% (@) 165%

(SSC Multi-Tasking Staff Exam.10.03.2013)
If the duty on an article is recuced by 40% of its
present rate, by how much percent must its con-
sumption increase in order that the revenue remains
unaltered?

Iz fordl a8 W THN Yoob i X Jq9H o
40% T Y I AW, qT 39 a% &I @Iq H
forae gfaera =t afg s B @ifer 3HR BH
el o sTaftafdd @2

1

(1) 60% (@) 62-%
2

() 72% (4) 66-%

(SSC CPO S.I. Exam. 09.11.2008)

Arbind spends 75% of his income and saves the
rest. His income is increased by 20% and he in-
creases his expenditure by 10%. Then the in-
crease in saving in percentage 1s

SRFE STt 3T BT 75% T I 7 SR 9
o= o 1 SHB! S § 20% g 8 §H W,
o8 A T H 10% BT ghg L < 8| TEIER,
SHh! g=d | T wfaea gfg 8t So?
(1) 55% (2) 52%
() 50% (4) 48%

(SSC CHSL DEO & LDC Exam. 27.10.2013 IInd Sitting)
Water tax is increased by 20% but its consump-
tion is decreased by 20%. Then the increase of
decrease in the expenditure of the money is
A B H 20% DI IhG g3 Afhd IHAI @A
20% 8 gE Bl dl o % @9 W gig a1 wHl
forert 2
(1) 50% decrease / <hH!
(2) 4% decrease/ SHl
(3) No change / %1 TRad" &l
(4) 4% increase / RH!

(SSC CGL Tier-IT Exam. 25.10.2015, TF No. 1099685)

A number is increased by x%: to get back to the
original number, it is to be reduced by

Th T hI x% SGET Sl €, 9E Gof G

N & fau 39 fRdn =2 Bm?

100x |

%%

(1) x% @ To04x
10x 0 X

%% %

®) Toorx " @ Tooix "

(SSC CAPFs SI. ASI & Delhi Police ST
Exam. 21.06.2015 (Ist Sitting) (TF No. 807731)

TYPE-III

Ifthe numerator of a fraction is increased by 20%
and the denominator is decreased by 5%, the

5
value of the new fraction becomes 5 The origi-

nal fraction is

I ferdll Tt & o391 H 20% 1 ofeg 3TN SHH &

T 5% ! HH H & W, @ T2 59 B AR %%ﬁ
I 21 IR i ®
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24 3
(1) IT) (2) T
95 48
3) 18 4) o5

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
The numerator of a fraction is increased by 20%
and denominator is decreased by 20%. The value

4
ofthe fraction becomes 5 The original fraction

is
wh 9 % 3w T 20% g G T § SR
IGH LY 20% HH F S T 21 o7 o

m?ﬁwélw,wfﬂﬁrwé?

2 18
(1) 3 (2) 5
7 4
3) I 4) 3

(SSC Delhi Police SI. (ST) Exam. 19.08.2012)
TYPE-1IV

Income of Ais 10% more than income of B. Let
B's income be x% less than A's income. Find x.

. 1
ww@ﬁaﬁwwgm7%w,

%wm 8% T 3R 9 10% W o fman afs

SHH! diftieh o 561 ®9T B, @l Yol B

1
(1) 9% @) 115%

1
G) 9% @) 11%

(SSC CGL Prelim Exam. 24.02.2002 (Ist Sitting) & 13.11.2005

(IIns Sitting & (SSC CPO SI Exam. 12.12.2010 (Paper-1&

(SSC Investigater Exam. 12.09.2010)

X's income is 20% more than that of Y. What
percent is Y's income less than X?

X 3™ Y 61 &G 9 20% e 21 Y I

MM X &1 o9 ¥ fhad ¥faea &8 272

(1) 88%% (2) 16%%

1

3) 83%% 4) 165%

(SSC CGL Prelim Exam. 24.02.2002 (IIn Sitting &
(SSC HSL DEO & LDC Exam. 27.11.2010)

If 60% of A's income is equal to x% of A's in-
come. The value of x is :
Ifg AST T &1 60%, B &l 3™ & 75% &
X 7, 1 B &Y 3F, A 9 & x%
SR B| x 1 A B
(1) 70 (2) 60
(3) 80 (4) 90

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
The salary of a person was reduced by 10%. By
what per cent should his reduced salary be raised
so as to bring it at par with his original salary ?

Th AfK % o] H 10% 1 HH R T4
SHh A fopd T ad | fhad wfaw &1 gfs
1 S ek I8 IHh TRIER oq & & &l
Sq?

1
(1) 9% @) 115%

1
3) 9% @) 1%

(SSC CGL Prelim Exam. 08.02.2004 (Fist Sitting)
B got 20% marks less than A. What per cent
marks did A got more than B ?
Bl A¥ 20% %A 3% I gL AH B H
fopa wfaera siferes oo WTa gW?
(1) 20% 2) 25%
3) 12% (4) 80%

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)

If A's salary is 50% more than that of B, then B's
salary is less than A's by

Iz AT a9 B9 50% ek ¢ df B 1 o
A ¥ frm yfiwd &9 €7

1
(1) 33% (2) 40-%

3) 45%% 4) 33%%

(SSC CGL Tier-I Exam. 19.10.2014 (Ist Sitting)
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1.

TYPE-V
Salary of a person is first increased by 20% then
it is decreased by20%. Percentage change in his
salary is:
fordll =afe & a1 ¥ 98 20% ®1 ILE Bl T
IR R SHH 20% T HH H T IR o
¥ e -
(1) 4% decreased / RH!
(2) 4% increased / 9f5
(3) 8% decreased / SHHl
(4) 20% increased / Ifg

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)
A number is increased by 20% and then it is de-
creased by 10%. Find the net increase or decrease
percent.

el wem o ved 20% 1 9fs *1 T AR R
10% 1 AT &I TE| & Fav@ gfg a1 e
BIcREISM

(1) 10% increase / 9f5

(2) 10% decrease / hHl

(3) 8% increase/dfG

(4) 8% decrease/hHI

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
A number is increased by 10% and then it is de-
creased by 10%. The net change in the number
is
frdll W& H 10% &1 gfs T 4 S ® 3R
5 39H 10% 1 & § St 21 sifow w9 9
39 HeA H-
(1) No increase or decrease / 15
aierds &l gid
(2) 2% decrease /1 HHl B A &
(3) 1% increas/ %1 9f5 @ Wl @
(4) 1% decrease /1 el B ST &

(SSC CGL Prelim Exam. 11.05.2003 (Ist Sitting) &
(SSC (South Zone) Investigator Exam.12.09.2010) &

CHSL DEO & LDC Exam. 04.11.2012)
The price of an article is reduced by 25% but
the daily sale of the article is increased by 30%.
The net effect on the daily sale receipts is
Toret o o WA 25% 1 B B W 7, foheg
g&] 1 ok Taml § 30% 1 g B T R
wRumErEy S fasml 9 o g # o

ST -

1
(1) 25% increase / <! &

1
(2) 25% decrease / b1 hHI

(3) 2% increase /%! gfg
(4) 2% decrease /bl HH!

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
The cost of an article worth Rs100 is increased
by 10% first and again increased by 10%. The
total increase in rupees 18

%100 %! THh & DI HMAd T8 10% F&1 I
STt €, qeIvE 10% iR §@r W 2
TEIER e dfg fhad 41 w1 81 Sl 872
(1) 20 @) 21
(3) 110 @) 121

(SSC Multi-Tasking (Non-Techanical) Staff Exam. 27.02.2011)
Nitin's salary was reduced by 10% and then the

reduced salary was increased by 10%. His new
salary in comparison with his original salary is

Ffe o aa | 10% 1 HH HT & T qen
TH: A L o d 10% hi ghg X I T
IHh AR dad ki ol H 3R] 41 o
ERT-

(1) the same /SRS

(2) 1% more/ 3ftreh

(3) 1%]less/wH

(4) 5%less/wH

(SSC Data Entry Operator Exam. 31.08.2008)
When the price of cloth was reduced by 25%.
the quantity of cloth sold increased by 20%.
What was the effect on gross receipt of the shop?

FHUS F G 25% A HL o T ITh! fofhl
1 AT H 20% i Ihg 31 T8 off| TEIER TR
1 Geohel I W 1 AT U7

(1) 5% increase / 9(g

(2) 5% decrease/<RH!

(3) 10% increase / (g

(4) 10% decrease / SHt

(SSC MTS (Non-Tachnical) Exam. 20.02.2011)
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8.

The price of an article was increased by r%. Later
the new price was decreased by r%. If the latest
price was Rs. 1, then the original price was:

fortlt 9% & god H 1% &1 gfg &f T 9” |
92 B A U 1% 1 HHAT hl T Al g AT
A< qod 1 ®o B, q AT 61 oI oAl-

1-r

(D 1 @ 100
J1-r2 [ 10000 j
3) 100 ) 10000 —r*

(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
A number is increased by 20% and then again
by 20%. By what per cent should the increased
number be reduced so as to get back the original
number?

Th & # 8a 20% qU1 GH: 20% hi g
I Tl B 9 g8 GeA i fehad wiav e
foran ST, @fer U7 TR T i SR B
Sa?

11

5
30=% 19—%

() 40% (4) 44%

(SSC CGL Prelim Exam. 08.02.2004) (First Sitting)
TYPE-VI

The ratio of the number of boys and girls in a
college. 1s 3: 2. If 20% of boys and 25% of girls
are adults, the percentage of those students who
are not adults, is

TRl il d SEISR ST 1 S 3 : 2
B AR BEN & 20%-FH-BBRAT B 25% TTEH
€, @ SA ol @1 wfeewar S 9ueh R
Frreferfed 2-
(1) 58%
() 78%

(2) 67.5%

(4) 82.5%
(SSC CGLPrelim Exam.24.02.2002(Middle Zone) &

($SC DEO Exam. 02.08.2009)

The ratio of the number of boys to that of girls
in a schoolis 4 : 1. If 75% of boys and 70% of
the girls are scholarship-holders, then the per-
centage of students who do not get scholarship
is

ol Thel & TRl B TE@A AR ASfRA B
Gl 1 SUE 4 1 B TSh B 75% i 9l
wefRdl & 70% hl sEEN e €, @ Sq
forenfefal 1 i, 5= sl & e €,
= B

1) 50%
() 75%

2) 28%
@) 26%

(SSC CGL Prelim Exam.11.05.2003 (Second Sitting)

1
If 30% of A=0.25 of B ZgofC,thenA: B:C

is equal to:

1
gfe AT 30% =BT 0.25=C I =§,?ﬁ A

B : C TR -
(1) 5:6:4 (2) 5:24:5
3) 6:5:4 4) 10:12:15

(SSC CGLPrelim Exam. 08.02.2004 (First Sitting)

In a class, the numberof girls is 20% more than
that of the boys. The strength of the class is 66.
If 4 more girls are admitted to the class. the ratio
of the number of boys to that of the girls is
fordl el B, ASfhal &l T TSHhI i T&A
T 20% @fereh B TH hel | w66 famef 7
i wel H 4 3K defwdl 9ot w ot oY, @
gk 3 TTgfhdl i WEAST o1 ST El-
(1) 1:2 (2) 3:4
3) 1:4 4) 3:5

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
The expenses on rice, fish and oil of a family are
intheratio 12 : 7 : 3. The prices of these articles
are increased by 20%. 30% and 50% respec-
tively. The total expenses of family on these ar-
ticles are increased by

fordl afaR o =maw, T9el 1 W™ 7| W
fRT WM ol B9 12 17 : 3% o9 ® B1 T
TS & Hed H AR 20%, 30% T 50% B
9f5 & St 21 IRaR % 31 a&gei W fohy 91
I A § Ko fhat gfg & ST

(1) 14%% 2) 7%%

3) 56%% 4) 28%%

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
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6.

The difference of two numbers is 15% of their
sum. The ratio of the larger number to the smaller
number 18
T G BT IR SAh AN B 15% 71 ST
A T BT @A ST B
(1) 23:17 () 11:9
(G) 17:11 (4 23:11

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
The price of sugar is increased by 20%. If the
expenditure on sugar has to be kept the same as
earlier, the ratio between the reduction in con-
sumption and the original consumption is

= ® 98 T 20% 1 wed ® T R At
= W T 90 9@ =9 S Ted foaT &
T B, @ @Ud H A h1 U8 H1 @Ud 9

YA BRT-
(1) 1:3 (2) 1:4
(3) 1:6 “4) 1:5

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
Rama's expenditures and savings are in the ratio
5 : 3. If her income increases by 12% and ex-
penditure by 15%, then by how much per cent
do her savings increase?
T % o9 qd S=d § 5 ;37 I 2| Afs
IUR!T A H 12% T =T H 15% i I &
S, @ IWh! g=d d fohaw wfav@ w1 afg
B2
(1) 12%
3) 8%

2) 7%

4 13%
(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
The population of town is 3,11 250. The ratio
between women and men is 43 : 40. If there are
249% literate among me and 8% literate among
women. the total number of literate persons in
the town is
T TR &1 S 3, 11,250 81 399 Form qen
OO 1 A 43 : 40 1 AETER, A% qEu o
el H TRl kT HEA 24% & SR forl § 8%
21, @ SH TR | WeR ®i el §en a2
(1) 41,800  (2) 48,900
(3) 56,800  (4) 99,600

(SSC Graduate Level Tier-II Exam. 16.09.2012)

10.

I1.

12.

13.

Two number A and B are such that the sum of

2
5% of A and 4% of B is grd of sum of 6% of A

and 8% of B. The ratio A : B is
T gt A SR BUH & fF AS 5% 3K B
4% T AT A 60% R BB 8% B AN I

%m%|A:Bwa§¢mw%?

3
(1) 4:3 (2) 3:4
G) 1:1 4) 2:3

(SSC CGL Tier-I Exam. 19.10.2014)
If Aexceeds B by 40%. B is less than C by 20%.
thenA: Cis:

Ife A, B § 40% 31 2: B, C ¥ 20% FH ¢,
Ta A C2-
(1) 28:25
G) 3:2

(2) 26:35
4 3:1
(SSC CGL Prelim Exam. 04.07.1999 (Ist Sitting)&
(SSC Section Officer Exam. 16.11.2003)
The bus fare and train fare of a place from
kolkata were Rs.20 and Rs.30 respectively. Train
fare has been increased by 20% and the bus fare
has been increased by 10%. The ratio of new
train fare to new bus fare is

SHicTeRTdl § Thell T 1 o9 foRian qen Yerme!
fohUen HUeT: 20 % A1 30 & oI (el &
TR # 20% de1 99 & TR | 10% &1 gfs
% T el % ¥ T w1 s % T

Ry @ e 2-
(1) 11:18 (2) 18:11
G) 5:3 @) 3:5

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
The ratio of the number of boys to that of girls
in a village is 3 : 2. If 30% of boys and 70% of

girls appeammation, the ratio of the
number of vi ;appreared in the examina-
tion to that not appeared in the same examina-
tion 18

Th Tid H oigehl AN wSihdl HI @A W
U 3 : 221 A% 30% TS 3N 70% TSiehar
foredt when & o2 @ € qhen § Sed e SR
T SSH d TeaaTeal i WS 1 S
B
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(1) 9:14
G) 1:1

Q) 23:27
(4) 27:23

(SSC CAPFs SI.CISF ASI & Delhi Police SI
Exam. 21.06.2015 IInd Sitting)

TYPE-VIIL
The difference oftwo number is 20% of the larger
number. If the smaller number is 20, the larger
number is :

T HEAE w1 AR I ;A A TS WA b
20% % SR 8| 4G Bl WeA 20 8 dl o€l
T A B

(1) 25 ) 45
(3) 50 4) 80
(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
1
Difference of two numbers is 1660. If 65% of

1
one number is 35% of the other number. the

smaller number is
T GEst # AW 1660 &1 I TH & H

6% a0 e % 8% T &, 1 B
e B-
(1) 7055
(3) 3735

(2) 5395

4) 2075
(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
A number is first decreased by 20%. The de-
creased number is then increased by 20%. The
resulting number is less than the original num-
ber by 20. Then the original number is

Th W& TE 20% KA hI Sl ¢ T 3w
U 1 gE WA 20% Jhg i Wl g1 uRom
Te U e ¥ 20 %9 7, dl g9 §@ -
(1) 200 (2) 400
(3) 500 4) 600

(SSC CHSL DEO Exam. 02.11.2014 (Ist Sitting)

If a number x is 10% less than another number y
and y is 10% more than 125, then x is equal to

Ifs ¥ x 3T §eA y | lO%W%HﬂTy
T 1259 10% 31fees &, 9 x seR 2-

(1) 150 2) 143

(3) 14055  (4) 123.75

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)

10.

A number, on subtracting 15 from it, reduces to
its 80%. What is 40% of the number?
Teh T § 15 ¥eH W I8 W2 L 80% & STt
B SH T H 40% F 72
(1) 75 (2) 60
3) 30 (4) 90
(SSC Constable (GD) & Rifleman

(GD) Exam. 22.04.2012 (IIn Sitting)
A number is divided into two parts in such a way
that 80% of 1st part is 3 more than 60% of 2nd
part and 80% of 2nd is 6 more than 90% of the
Ist part.
Then the number is

Tk T H1 QY A H T YRR Sier T @ TR
T WM T 60% § 3 Ak @ S gE |
1 80%, & | & 90% § 6 2Afereh 21 TILHR
g wEeA fohat 22
(1) 125 (2) 130
(3) 135 (4) 145

(SSC CHSL DEO & LDC Exam. 28.10.2012. Ist Sitting)
498 1s 17% less than the number by
498, fFE W& | 17% %4 87
(1) 610 (2) 580
(3) 600 (4) 620

(SSC MTS Exam. 10.03.2013. Ist Sitting : Patna)

A number when reduced by 10% gives 30. The
number is
T 9@ H H 10% HA T W, I8 30 B S
8| TEIHR 9% HEA F 82

1
@ 333

1
1) 337

(3) 40 4) 35

(SSC Multi-Tasking Staff Exam. 17.03.2012. IInd Sitting)

When 75 is added to 75% of a number, the an-
swer is the number. Find 40% of that number.

9 fRd HE=m & 75% ° 75 W8 S a9
STR € e €| W@ 1 40% F€ L
(1) 100 (2) 80
(3) 120 4) 160

(SSC CGL Tier-I Re Exam. (2013) 27.04.2014)
The sum of two numbers is 520. If the bigger
number is decreased by 4% and the smaller num-

ber is increased by 12% then the numbers ob-
tained are equal. The smaller number is
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I1.

12.

13.

14.

15.

] wEet w1 A 520 21 A% 3T o€l wen
1 4% HH F 5@ S IR B * 12% a1
e <, o 9 S ThReHE g agaER,
ST B e S 6 R?
(1) 280 ) 210
(3) 240 @) 300

(SSC CHSL DEO & LDC Exam. 27.10.2013 IInd Sitting)

The number that is to be a added to 10% of 320
to have the sum as 30% of 230 is

320 10% H % ® TE S ST H1 Aqm
230 % 30% % SUEX B SMU?
(1) 37 (2) 32
(3) 23 “4) 73
(SSC CGL Tier-I Exam. 21.09.2014)

When 75% of a number is added to 75, the re-
sult is the same number. Find the number:

Iz fordl & & 75% § 75 Sigehs J81 GE&AT
Tl B ST 98 G A kT
(1) 225 (2) 270
(3) 300 4) 325

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
Two numbers are respectively 25% and 20% less

than a third number. What per cent is the first
number of the second?

< WAt fRe e wen ¥ %A 25% I
20% %9 T Teell FeA TEd e w1 R
ITNG
1) 5%

() 80%

2) 75%

(4) 93.75%
(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
Two numbers are less than a third number by
30% and 37% respectivley. The per cent by
which the second number is less than the first is

T FeATd {TEd ¥ HAY: 30% 3R 37% FH
TEl wE Teell g' ¥ e wiaer e @2
(1) 10% Q) 7%
() 4% @) 3%

(SSC SAS Exam. 26.06.2010 (Paper-1)

If x% of y% of 80 is the same as 25% of 900.
then the value of xy 1s

g 80 y%, AT x%, 9000 T 25% T SR
g, @ xy &1 °H fha grm?

16.

17.

(1) 30100 (2) 32500
(3) 28125 (4) 34200
(SSC CHSL (10+2) DEO & LDC Exam. 16.11.2014,
Ist Sitting TF No. 333 Lo 2)
The sum of two positive numbers is 20% of the
sum of their squares and 25% of the difference
of their squares. If the numbers are x and y

X+ y.
then. is equal to

X2
T FTcHeh TS Sh1 N1 39k o o AN <k
20% & 3R TP T B A B 25% 71 AR

st xoii y & X fe w2
1 3

(1) 1 (2) P
1 2

3) 3 4) 9

(SSC Constable (GD) Exam. 04.10.2015, IInd Sitting)
The difference between the value of the number
increased by 20% and the value of the number
decreased by 25% 1s 36. Find the number.

ferell T & 20% aftla 7 S H'm & 25%
BIfd 7 | S 36 81 98 H&Al A Hifau
(1) 72 (2) 08
(3) 720 (4) 80

(SSC CAPFs SI. CISF & Delhi SI Exam. 22.06.2014)

TYPE-VIII

1 litre of water is added to 5 litres of alcohol-
water solution containing 40% alcohol strenght.
The strength of alcohol in the new solution will
be

40% STThIEA ohi ITfRT aTeT 5 TIeX STeehiga-dHT
% oo | 1 et u e s 81
faeem o eohiee i1 wife gi-

(1) 30% 2) 33%

3) 33%% 4) 33%%

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
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2.

Alitre of pure alcohol is added to 6 litres of 30%
alcohol solution. The percentage of water in the
solution is

30% 3TehEA A & 6 T | Th del IS
sreehieel THern a1 offet ® wef 1 wiae 2
(1) 50% (2) 65%
(3) 60% (4) 40%
(SSC CHSL DEO & LDC Exam. 11.12.2011
(Ist Sitting (Delhi Zone)
An ore contains 25% of an alloy that has 90%
iron. Other than this, in the remaining 75% of
the ore, there is no iron. To obtain 60 kg of pure
iron, the quantity of the ore needed (in gks) is
approximately:
T R H feRdl g w1 25% ¢, foraw
90% T 2| TTh IR, STk & I 75%
o @ @l T& 21 60 R E Rl oH @
AU staeen 1 sTuferd AN TR H, @ o
(1) 250.57  (2) 266.67
() 27523  (4) 300
(SSCCHSL DEO & LDC Exam. 11.12.2011
(IInd Sitting (Delhi Zone)
How much water must be added to 100 ml of 80
per cent solution of boric acid to reduce it to a
50 per cent solution ?
80% it 37+ aret 100 fyefl. ot & =it o
fha o SR faeran W sia o 9w
T 50% B SM?
(1) 30 ml/ fhei.
(2) 40 ml/ Thei,
(3) 50 ml / fhed.
(4) 60 ml / Thed,

(SSC CHSL DEO & LDC Exam. 11.12.2011

(Ist Sitting (East Zone)
15 litres of a mixture contains alcohol and wa-
ter in the ratio 1 : 4. If 3 litres of water is mixed
in it, the percentage of alcohol in the new mix-
ture will be

15 offer T & 1 4% U ® sfehigel @R
o 21 Afe fage § 3 ofeX a faemn S @
qt AU g | steshied 1 Wiaera feaan grm?

2

1) 15% @) 162%
1

3) 17% (4) 18 %

(SSC Graduate Level Tier-I Exam. 21.04.2013)

6.

40 litres of a mixture of milk and water contains
10% of water. the water to be added. to make
the water content 20% in the new mixture is:

T9 R T Tk 40 Wi fHHw # 10% wh
g1 U fasm # 20% Ut w@H & faw, g
g o fHemy STl I T A -

(1) 6litres/ e (2)6.5 litres / ©iTex

(3) 5.5 litres / wleX  (4) 5 litres / wileX

(SSC CGL Prelim Exam. 11.05.2003 (Ist Sitting) &

(HSLDEO LDC Exam. 28.11.2010)

In what ratio must a mixture of 30% alcohol

strength be mixed with that of 50% alcohol

strength so as to get a mixture of 45% alcohol
strength ?

30% STeehisel WISl oiel THE il 50% STeehied
Tr=al are e o foew s o fieman s
ik 45% 3Teeh g WTdl Tl THAU 9= & ?
(1) 1:2 2) 1:3
(3) 2:1 “4) 3:1

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting
The ratio in which two sugar solutions of the

concentrations 15% and 40% are to be mixed to
get a solution of concentration 30% is

15 Wi e 40 Fiawm dsan o &1 S 6
el 1 fed o o faeman s, a@ifs 30
HfaRTd sl el o Ww 812
(1) 2:3 2) 3:2
(3) 8:9 4) 9:8

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
One type of liquid contains 20% water and the
second type of liquid contains 35% of water. A
glass is filled with 10 parts of first liquid and 4

parts of second liquid. The water in the new mix-
ture in the glass is

T FHN B 59 H 20% e X T FhR &
59 T 35% Wt 21 Tl 59 B 10 9 W W
%9 B 4 39 AR W 59 % 4 AV AR TH
firerg o M U €| TEAER, 6 A & T
g & S feRa srm?
(1) 37% (2) 46%

3) 12%% 4) 24%%

(SSC CHSL DEO & LDC Exam. 10.11.2013. IInd Sitting
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10.

I1.

12.

13.

In what ratio must 25% of alcohol be mixed with
50% of alcohol to get a mixture of 40% strength
alcohol?

25% ATl 3Teehizd hi 50% ATl 3Tehied
W fr o1 § faamen s f 40% arsd
e STeehiEd o1 A0 J< &1 SL?
(1) 1:2 @) 2:1
(3) 2:3 4) 3:2

(SSC CGL Tier-I Re-Exam. (2013) 20.07.2014 (Ist Sitting)
20 litres of a mixture contains 20% alcohol and
the rest water. If 4 litres of water be mixed in it,

the percentage of alcohol in the new mixture will
be

20 wfeX fagw o 20% siohisa i 99 9T 2|
Ife IHH 4 oftex I SR ffen fean se @ =
fagor ¥ efoenied o1 gfaera feoran gim?

2

(1) 33%% (2) 165%

1
() 25% ) 12.%

(SSC CGL Tier-I Exam. 21.09.2014)
The percentage of metals in a mine oflead ore is

3
60%. Now the percentage of silver is Z% of

metals and the rest is lead. If the mass of ore
extracted from this mine is 8000 kg. the mass
(inkg.) oflead 1s :

Teh I 3TT%h ! @M | A1gel sl Fiaerad

60% 21 &6 =TS § Toid 1 wiawrd %%%

IR v W 2 A wH ¥ e o
3F%h W1 FoAAM 8000 Tk, € o & @
T (frmm, ) € :
(1) 4763 (2) 4762
(3) 4764 4) 4761
(SSC CGL Tier-I Exam. 16.08.2015
(IInd Sitting) TF No. 2176783)
300 grams of sugar solution has 40% of sugar
in it. How much sugar should be added to make
it 50% in the solution?
300 T < & A § 40% < 21 THE <A
SR o s =fEe 9% T HA B 50% B

e ?

(1) 40 gram/7H  (2)10 gram /T
(3) 60 gram/TH  (4)80 gram/IMH
(SSC CGL Tier-Il Exam. 25.10.2015, TF No. 1099685)
TYPE-IX
A cando a work in 70 days is 40% efficient than
A, In How many days B will finish that work?

ATH &M & 70 fad § T Hhar © 3 B, A
T 40% @fereh He 8| 9€T 1w & fou B
w1 forad f&T awf?

(1) 40days/f&d  (2)60 days/f&q

(3) S50days/fed  (4)45 days/f&q

A can do a work in 12 days B is 60% more

effiecient that A. In how many days B will do
that work?

ATHet &M @ 12 &9 & 2 g6 21 B, A ¥
60% 3ifereh HIE Bl OEl M HE B faw
o B I TN ¢

1
(1) 75 days / f&a

(2) 8days/Teq

(3) 10days/fed  (4)7 days/ T

TYPE-X

The price of sugar is recduced by 20%. Now a
person can buy 500g more sugar for 36. The
original price of the sugar per kilogram was

= & 9 T 20% w1 HH B T 21 o T
Hfed 36 % T 500 UM Afees = @RS TRl
21 = w1 wfa feretum yRfdes WE -

(1) 14.40 (2) 18

(3) 15.60 (4) 16.50

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
Due to an increase of 50% in the price of eggs. 4
eggs less are available for 24. The price of eggs,
4 eggs less are available for 24. The present rate
of eggs per dozenis :
el & oI H 50% ! gfs BH W24 4 37
+1 foed €1 9fa o ofel &1 9due 9 2
(1) 24 @) 27
(3) 36 (4) 42
(SSC CHSL DEO & LDC Exam. 27.11.2010)
A reduction of 25% in the price of rice enables a


https://www.print-driver.com/?demolabel-en

personto buy 10 kg more rice for 600. The reduced
per kg price of rice is
A o oA H 25% i1 HH B W hI3 SAfK
600 T 10 fereiium eiferes =Tae Wehdl €1 Hee
1 Wi FhE e g e ©
(1) 30 2) 25
(3) 20 4) 15

(SSC CHSL DEO & LDC Exam. 28.11.2010 (IInd Sitting)
Areduction in the price of apples enables a per-
son to purchase 3 apples for 1 instead of 1.25.
What is the % of reduction in price (approxi-
mately) ?

Ui H1 HET H wH BTH W Th Al 125
99 14 3 U9 @l o ¢ HiEd § wEH B %
fopae B (W) ?

(1) 20% () 25%

1
() 30% () 3%

(SSC Graduate Level Tier-I Exam. 21.04.2013)
The strenght of a school increases and decreases
in every alternate year by 10%. It started with
increase in 2000. The the strength of the school
in 2003 as compafed to that in 2000 was

Th R W SO ol wEAT H 8 THRR a9 H
A 10% o1 ghg AR HH 81 St 21 & 2000
T gfg g @ 2003 W 2000 ! qoH B SE &I
e fha g2

(1) increased / 9f5 8.9%

(2) decreased by / hHI 8.9%

(3) increased by / gfg 9.8%

(4) decreased by / HI 9.8%

(SSC CGL Tier-1I Exam. 21.09.2014)

TYPE-XI

The value of a commodity depreciates 10% an-
nually. If it was purchased 3 years ago and its
present value is 5,832, what its purchse price?

fordll 711 % @ § 10% aftieh k1 fiRree St
21 3fE 7@ dF o wee Wi T B a0 SHh
A Hed 5,832 I B, A WIS HHI FHHAT

F T oT?
(1) 7200 (2) 7862
(3) 8000 (4) 8500

(SSC CPO S.I. Exam. 09.11.2008)

The value of a machine depreciates by 5% ev-
ery year. Ifits present value is 2,00,000, its value
after 2 years will be

ot el & goa & ufqad 5% <1 B g 2l
afg ST SdHH ged 2,00,000 ®UC 7, A
Y 9% IHR oI B
(1) 1,80,500 (2) 1,99,000
(3) 1,80,000 (4) 2,10,000

(SSC Constable (GD) & Rifleman (GD) Exam. 22.04.2012 (Ist Sitting)
In a factory, the production of cycles rose to

48,400 from 40,000 in 2 years. The rate of
growth per anum is

Tk el §, WEfehel w1 T 29 7 40,000
T FgehY 48,400 B 711 Hiqad gfg i I F
82

(1) 9%
(3) 10.5%

(2) 8%
4) 10%

(SSC CAPFs. SI. CISF ASI & Delhi Police SI
Exam, 21.06.2015 (Ist Sitting) TF No. 8037731)
The present price of a scooter is Rs. 7,290. If its
value decreases every year by 10%. then its value
3 years back was
TS WHeX H1 GGAH HIEG 7,290 FUC T A
ST e 10% Tode™ Bl ?, @ 3 °d
SR Ted T A2
(1) 10,500  (2) 8,000
(3) 10,000  (4) 11,500

(SSC CAPFs. SI. CISF ASI & Delhi Police SI
Exam. 21.06.2015 IInd Sitting)

TYPE-XII
In an examination, there were 1000 boys and
800 girls. 60% of the boys and 50% of'the girls

passed. Find the percent of the candidates failed
l’)

frel wlem 9 1000 e SR 800 Wi |
60% 3R ersfenal § 50% wdeneft sl gyl =i
Temedt 1Yl gu SR wiavd 9 wifew|
(1) 46.4% (2) 48.4%
(3) 44.4% (4) 49.6%

(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)
In an examination a candidate must secure 40%
marks to pass. A candidate, who gets 220 marks.

fails by 20 marks. What are the maximum marks
for the examination?
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Teh ITRER ! fodl wdan o 3ol 89 & 6.

AU 40% @i o wE W& €1 AR 220 6
T AT SHIFAR 20 Skl ¥ ST B
T A 3E TET % SAfiehan S & o
(1) 1200 (2) 800
(3) 600 (4) 450

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
A candidate who gets 20% marks in an exami-
nation fails by 30 marks but another candidate

who gets 32% gets 42 marks more than the pass-
ing marks. Then the percentage of pass marks is :

T JART foRel The § 20% 3 9=k 30
3Rl T el B I © T 37 WA 32% 37k
W b TH EM A iRl 9 42 i sifueh
W S 21 e U B % To el o i 8-
(1) 52% (2) 50%
(3) 33% 4) 25%

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
Two students appeared at an examination. One
of them secured 9 marks more than the other

and his marks were 56% of the sum of their
marks. The marks obtained by them are :

3 foreneft foreht when 4 931 T Y T I W Y
9 ik 3Mferh W fohU Tl IHS Wik A1 &
3HI & AN B 56% H TR ¥ 3T gN W
foRT U s 3
(1) 42,33
(3) 41,32

(2) 43,34

(4) 39,30
(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
In an examination. 52% students failed in Hindi
and 42% in English. If 17% failed in both the sub-
jects, What percentage of students passed in both
the subjects?

fordt atam | 52% foeneff fe=t qen 429% stusit
o wa gul afs 17% foeneff w71 <=1 fawat o
% U B, @ fopan wfaera fomneft 31 fawai o

e gu?
(1) 38% (2) 33%
() 23% 4) 18%

(SSC CGL Prelim Exam. 08.02.2004 (Ist Sitting) &
(SSC SAS Exam. 26.06.2010 (Paper-I) &

(SSC GL Tier-1I Exam. 16.09.2012)

In an examination 80% candidates passed in
English and 85% candidates passed in Math-
ematics. If 73% candidates passed in both these
subjects, then what per cent of candidates failed
in both the subjects?

fordlt Tlien o 80% WM SIS qe 85% Tfurd
o U gul afk 73% gt g1 I fomai | u
g B, frae wfav w39 < fase §

A U2
(1) 8% 2) 15%
(3) 27% 4) 35%

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
In an examination 80% of the boys passed in
English and 85% passed in Mathematics, While
75% passed in both. If 45 boys failed in both,
the number of boys who sat for the examination
was
Tk THeT H 80% wesh S W U gY SR
85% TG § WH U @ik 75% oAgh Ml
oot o wrw gul At 45 dgs A fomai § wa
gL @ Ten § d93 Wl i e GEAl aqEy)
(1) 400 (2) 450
(3) 200 4) 150
(SSC CPO SI Exam. 09.11.2008) &
(SSC Constable (GD) Exam. 12.05.2013)
For an examination it is required to get 36% of
maximum marks to pass. A students got 113
marks and failed by 85 marks. The maximum
marks for the examination are:

FoRe Wit @ T BH % fAT stfteRad SRl & 36%
3R A STavah ¢l ek ferenedt o 113 3k ot R
T O 85 ShI ¥ U B TR TRIE & SAfUhan 3 &
(1) 500 (2) 550
(3) 565 4) 620

(SSC CHSL DEO & LDC Exam. 28.11.2010 (Ist Sitting)
A sutdent scored 32% marks in science subjects
out of 300. How much should he score in lan-

guage papers out of 200 if he is to get overall
46% marks?

fordt faanedt =1 fomm = fawai 9 3009 2 32%
3 afsid fhu| 98 9 % 200 i a1l T
T o fea ofw aifsla e aifes 39 a
THATRT 46% 3k BT SMT?
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10.

I1.

12.

13.

(1) 72% 2) 67%
(3) 66% 4) 60%

($SC CHSL DEO & LDC Exam. 28.11.2010 (1Ind Sitting)
In an examination. 1100 boys and 900 girls ap-
peared. 50% of the boys and 40% of the girls
passed the examination. The percentage of candi-
dates who failed

wh wen § 1100 Wi R 900 wefRal o
1 o ST 50% g SR 40% wrsinal
e | IOl B | ARAER STvl wenfera

1 Ffaera foha @12
(1) 45% (2) 45.5%
(3) 50% 4) 54.5%

(SSC Multi-Tasking (Non-Teachincal) Staff Exam. 22.02.2011)
In a class, the average score of girls in an exami-
nation is 73 and that of boys is 71. The average
score for the whole class is 71.8. Find the per-
centage of girls.

Th HEl 1 Th Wl H oeihdl & s
Wik 73 AR @ehi & 71 91 A g wen &
e Wwies 71.8 &, A I heN § wIeihdl
fere wfaera ofi?
(1) 40%
(3) 55%

(2) 50%

4) 60%
(SSC MTS (Non-Tachnical) Exam. 27.02.2011)
In an Examination in which full marks were 500,
A got 10% less than B. B got 25% more than C.
C got 20% less than D. If A got 360 marks, what
percentage of full marks was obtained by D?

e Then H, fS9H quiies 500 &, A®! B &l
U 10% wH 3k fHell St § B %l C &1
ST 25% sk Si et SR C & D &1
3TUET 20% A 31k el TEIER Al AT 360
ek e 8, @ Dl qoiiek & fohad wfaem
3 W g« A?
(1) 90% (2) 80%
(3) 50% 4) 60%

(SSC CHSL DEO & LDC Exam. 04.12.2011 (Ind Sitting (East Zone)
Three sets 0f40, 50 and 60 students appeared for an
examination and the pass percentage was 100, 90 and

80 respectively. The pass percentage of the whole set
is

14.

15.

16.

T ThET | 40, 50 AU1 60 BT AT qH THE!
3 o foran SR SEH 3R S wET: 100,
90 qeN 80 oIl TEIER, 34 §H §HEl & Hd
B 1 STvTA FiawTd fhaen en?

(1) 88%% (2) 84%%

1

3) 88%% 4) 845%

(SSC Graduate Level Tier-II Exam. 29.09.2013)
In an examination, 19% students fail in Math-
ematics and 10% students fail in English. If 7%
of all students fail in both subjects, then the num-
ber of students passed in both subjects is

TF W ¥ 19% fameff fog # R 10%
Tereneft e & il gl €) aft wr feenfea
o W 7% faeneft g1 fawai o orgeiol &l ®, @
THI fomai ® 3ol B9 ol faenfe™r st wemn
g

(1) 36% ofall students / G+t faenferai

<l 36%

(2) 64% of all students / G+t faenferai

<l 64%

(3) 71% of all students / G+t faenferai

<l 71%

(4) 78% of all students / G+t faenferai

<l 78%

(SSC CHSL DEO & LDC Exam. 02.11.2014 (IInd Sitting)
In an examination 70% of'the candidates passed
in English. 80% passed in Mathematics.10%
failed in both the subjects. If 144 candidates passed
in both, the total number os candidates were:

fordll whem ® 70% TRt St § UW gy,
80% TIOTd | W B M 10% <A1 fasai § ®ed
gul afe I fowal o 144 ymh o9 W, @
JAIRTE i o HeA ofi-
(1) 125 (2) 200
(3) 240 4) 375

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
In an examination 34% failed in Mathematics
and 42% failed in English. If 20% failed in both

the subjects, the percentage of students who
passed in both subjects was
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17.

18.

19.

foreht wliem o 34% udeneff wforg § ®wat gu den 20, Inanexamination, a student must get 36% marks

42% TSt § WA gul AR 20% wianef =
fowall § e gl @ < B § T S
wenferr 1 gfaerd of-
(1) 54% (2) 50%
(3) 44% 4) 56%

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
In an examination A got 25% marks more than
B. B got 10% less than C and C got 25% more

than D. If D got 320 marks out of 500, the marks
obtained by A were

T T8 § AR B W1 STUET 25% 3Afeeh i
fiyel| 385 B 1 C &1 3TU&T 10% ¥ 3k A
3 C ! Dl 370enm 25% sifus 3k firel|
TEIER, A D! 5009 § 320 3 fiaet &f, @t
Al fhad sk et 2
(1) 405 (2) 450
(3) 360 (4) 400

(SSC Graduate Level Tier-II Exam. 29.09.2013)
In an examination there are three subjects of 100
mark seach. A students scores 60% in the first
subject and 80% in the second subject. He scored

70% in aggregate. His percentage of marks in
the third subject is

T e § v 100 SE B OF fawa 71 TR
o1 T fowa H 60% iR T fawa § 80%
3fh YT Al B hel THeRY 39 70% 3k
T U reR T o 36eh sfenl 1 wiawrd &
w®I?

(1) 80
(3) 65

(2) 60
(4) 70
(SSC CAPFs SI. CISF ASI & Delhi Police SI
Exam. 21.06.2015 IInd Sitting)
A candidate who gest 20% marks in an exami-
nation, fails by 30 marks. But if he gets 32%
marks. he gets 42 marks more than the mini-
mum pass marks. Find the pass percentage of
marks.
e Wiemeft w1 foREl wem ° 20% 3 I g
3R @& 30 3l § ®o B T, fh s e
32% 3Teh WIS hdl I 39 =LIaH ITI0Mh § 42
31fueh It BId| START i Hfaerar @ il
(1) 52% (2) 20%
() 25% 4) 12%
(SSC CHSL (10+2) LDC, DEO & PA/SA
Exam. 15.11.2015(IInd Sitting) TF No. 7203752)

to pass. A student who gets 190 marks failed by
35 marks. The total marks in that examination
is

fordll e o 3l g & fow W fomneft w1
36% 3k 3G T hid =Mfedl 190 3k I
A ATl Teh Toreneft 35 sferl @ ST HwA 3 T
SH TheT % Ui ©

(1) 450 (2) 810

(3) 500 4) 625

(SSC CGL Tier-I Exam. 16.08.2015 (Ist Sitting) TF No. 3196279)
TYPE-XIII

A Person gave 20% of his income to his elder
son, 30% of the remaining to the younger son
and 10% of the balance, he donated to a trust.
He is left with 10080. His income was:

Teh Af 1 ST 3T BT 20% S G 1 fa
T T R 20% 3T o G i fam T o9 <l
30% 3T BIE I Wl < @ I = gg Ui e
10% S8 Th 2 1 3 A1 SR 39 YR 39h
T 10080 €9 S| IThT 3T ofi-

(1) 50000 (2) 40000

(3) 30000 (4) 20000

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)

1
A man spends 125% of his salary on items of

daily use and 30% ofthe remainder on house rent.
After that he is left with 2940. How much is his
salary?

1
T AfR] 3T Add I 125%%\%% TN Y

TES W G B € AU I BT 30% HBH
% fRUT W 3H THR IHH TH 2940 Fo I
@ WK 8| IGeh! o Tehear 82
(1) 4800 (2) 5200
(3) 4500 (4) 4000

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
A man spends 40% of his monthly salary on food
and one-third of the remining on transport. If he
saves Rs. 4,500 per month, which is equal to
half the balance after spending on food and trans-
port, his monthly salary is
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Teh Al 379 HIfEeh o 1 40% WIS qen
Y o T TH-TeE TReET W o5 i gl
Ffg 98 4,500 ®UC, S A qAn URagd W
Y A & A% YW WA arelt IR @ g &
T 7, WG H1 90 HE 2, q SHR
e S gT-
(1) 11,250

(3) 25,000

(2) 22,500

(4) 45,000
(SSC Data Entry Operator Exam. 31.08.2008)
Mr. X spends 35% of his salary on food and 5%
of his salary on children education. In January

2011, he spent 17,600 on these two items. His
salary for that month is

2 X 3T A7 T 35% HIeH W 3 ST 3T
H 5% =4 HI el W @9 H 2l Sl
2011 9 38 39 I "Rl W 17,600 @4 o)

39 7ER § 9@ o ©-
(1) 40,000  (2) 44,000
(3) 48,000  (4) 46,000

(SSC CHSL DEO & LDC Exam. 02.11.2014 (IInd Sitting)
A man spends 75% of his income. His income is
increased by 20% and he increased his expendi-
ture by 10%. His savings are increased by

Th oAfR SO S W 75% @ il @l
SHHT M 20% &% ST ¢ SR o8 S T
10% @1 ol €1 SEeh! w= feher] S_ul?

1
(1) 37.% () 50%

(3) 25% 4) 10%

(SSC CGL Tier-I Exam. 09.08.2015) (IInd Sitting) TF No. 4239378)
The monthly salaries of A and B together amount
to 40,000. A spends 85% of his salary and B.
95% of his salary. If now their savings are the
same, then the salary (in Rs.) of Ais
A SR B &1 A o fHemht 40,000 81 A
T ST BT 85% B HI ¢ SR B I oA
H1 95% Wd YAl B 9 AT IThT S=d TR
2, @ A% 9ad (BT H) fomaT @2
(1) 10,000  (2) 12,000
(3) 16,000  (4) 18,000

(SSC CGL Tier-I Exam. 19.10.2014 TF No. 022 MH 3)

TYPE-XIV
A district has 64000 inhabitants. If the popula-

. 1
tion increases at the rate of 25% per annum.

the number of inhabitants at the end of 3 years
will be

fordt SIg H @are Safaal i & 64000

g1 afe @® SHEeE 2%%aﬁmﬁ w9
gl €, 1 3 99 o5 98] @Aa safkdl i

T B Su-
(1) 70000 (2) 69200
(3) 68921 (4) 68911

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
Present population of a village 1s 67600. It has
been increasing annually at the rate 4%.What
was the population of the village two year ago?
T g 1 gAEE SHEE 67600 Bl T8 4%
it i X W wedl W 1 Tid i SHEE 1

T @ frR o
(1) 62500 (2) 63000
(3) 64756 (4) 65200

(SSC CHSL & LDC Exam. 27.11.2010)
The population of a village decreases at the rate
0f20% per annum. If'its population 2 years ago
was 10,000, the present population

T Tid h1 STERT 20% e H1 R § = ©/l
21 afk 2 9 vd IERT et 10,000 off
A S 7
(1) 4600 (2) 6400
(3) 7600 (4) 6000

(SSC CHSL DEO & LDC Exam. 04.11.2012 (IInd Sitting)
If population of women in a village is 90% of
population of men, what is the population of men
as a percentage of population of women?
afx fareh it o o ) wE TN H W
FT 90% I, T T&Hl ! HeA &= ol 9& &
fere wfqera Brf?
(1) 100% (2) 105%
() 108% “4) 111%

(SSC CISF Constable (GD) Exam. 05.06.2011)
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5.

Of'the 1000 inhabitants in a town 60% are males
of whom 20% are literate. If of all the inhabit-
ants, 25% are literate, then what percentage of
the females of the town are ilterate?
Th TR § 1000 Fretfe § ¥ 60% qEu ®
o | 20% wer € afg Ferfaa § 25%
TeR B, @ TR fepa wiaer Afgend wen 8?
(1) 27.5 (2) 32.5
(3) 37.5 (4) 22.5

(SSC CGL Tier-II Exam. 2014 12.04.2015

(Kolkata Region) TF No. 789 TH 7)

From 1980-1990, the population of a country
increased by 20%.

1980 ® 1990 T fordl 3T &I STERI 20%
el

From 1990-2000, the population of the country
increased by 20%.

1990 & 2000 Th 39 I i AR 20% T

From 2000-2010, the population of the country
increased by 20%.

2000 § 2010 Tk 39 I i AR 20% T
Then the overall increased population (in per-
centage) of the country from 1980-2010 was

@ 1980 ¥ 2010 Tk 3IY I HI SEE HA
fora e =@l
(1) 72.2% (2) 60%
() 72.8% (4) 62.8%

(SSC CGL Tier-II Exam. 12.04.2015 TF No. 567 TL 9)
The population of a town increases each year by
4% ofits total at the beginning of the year. If the
population on 1 st January 2001 was 500000,
what was it on 1st January 20047

Teh TR i SHEE | gfd a9, o8 & STRey
I w SHEE | 4% dfg B 21 Ak weel
SR 2001 I SHE@AT 500000 off, @ W
SHad 2004 w1 I TRa ofi?
(1) 562432  (2) 652432
(3) 465223  (4) 564232

(SSC CAPFs. SIL. CISF ASI & Delhi Police SI Exam. 22.03.2014)
The population of a town increases by 5% every
year. Ifthe present populationis 9261, the popu-
lation 3 years ago was
Th TR i SHEE 9 a6 5% 5 S 2l
aft adam SEE 9261 7, @ 3 96 SHEE
femaHt off?

(1) 8000 (2) 5700
(3) 6000 (4) 7500

(SSC CTL Tier-I Exam. 09.08.2015 (Ist Sitting) TF No. 1443088)
TYPE-XV

A fruit seller had some apples. He sells 40%
apples and still has 420 apples. Originally. he
had:

el wa foshdl & 99 | 99 ¥l 98 40%
T = 1 € SR TR o 3E T 420 WS 79
w®d € I | SHe T 9 9-

(1) 588 apples/¥d

(2) 600 apples / ¥a

(3) 672 apples/¥d

(4) 700 apples / ¥a

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)
The sum of the number of boys and girls in a
school is 150. If the number of boys is x, the
number of girls becomes x% of the total number
of students. The number of boys is:

forell fommer™ § oEl IR SN w1 §EA
I 150 B1 A% BN k1 wE&A x B Al st
1 He faenfial 1 e 9= H1 x% & S
2, O i GE 8-
(1) 90 (2) 50
(3) 40 4) 60

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
Ifthe sales tax on a television set increases from

1
7 5 %0 to 8%, what more amount will have to be

paid for the television whose price (excluding
sales texes) is Rs. 190007

ne ~ _ n l
Ffg efifasm W fesht Y 75% T 8% T g

ST, @ 39 Teftfos W, fowen goa (fosht &
i BIgHT) 19,000 €W B, Tohamn tan sifees
M T=m?
(1) 190
(3) 180

(2) 95
4) 90

(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)
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4.

In an assembly election, a candidate got 55% of
the total valid votes. 2% of the total votes were
declared invalid. If the total number of voters is
104000, then the number of valid votes polled
in favour of the candidate is:

T faura & g9 |, U6 IFRaR &1
99 HAdl & 55% Ha fiell SEH e T4l B 2%
Td, Ay St Y XY MU EIER, AfE s
TARIE 1 F&A 104000 @ 31, T 39 IFHRAR
& e H el fohad oY WA 19?
(1) 56506 (2) 56650
(3) 56560 (4) 56056

(SSC CHSL DEO & LDC Exam. 21.10.2012 (IInd Sitting)
8% of'the voters in an election did not cast their
votes. Inthis election, there were only two candi-
dates. The winner by obtaining 48% of the total

votes defeated his contestant by 1100 votes. The
total number of voters in the election was:

fordll g o 8% TaRmel A U HA 8l STl
39 9@ # %od 3 FERm 9l S 9
TARM o B Tl b 48% Hd I HX 1100 Tl
Y 9@ H 3 TR S 89 fan g ° |/
i 9-

(1) 21000
(3) 22000

(2) 23500
(4) 27500

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
A and B are two fixed points 5 cm apart and C is
a point on AB such AC is 3 cm. If the length of
AC is increased by 6%. the length of CB de-
creased by
ATl B3 oR fog € fome o9 1 g 5
Ut & qe1 C {WEvs AB R T U@ fog @
o AC 3 ot 21 af AC &1 @ | 6%
gfg &1 S @ CB &1 owas ¥ foha=t &l &
ST ?
(1) 6%
3) 8%

2) 7%

4 9%
(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
In a group of students. 70% can speak English
and 65% can speak Hindi. If 27% of the stu-
dents can speak none of the two languages, then
what per cent of the group can speak both the
languages?

10.

faanfefal & wk qgE o 70% S et gehd €
A 65% Tt et wehal B 1 Af 37 ferenfefat o
T 27% faenfeal =1 ammet § 9§ &iE ot 9w
T @ W ¥ A 59 wgE B R whvm
fereneff 565 T AOTE Ser Wehd €2
(1) 38% (2) 62%
(3) 28% 4) 23%

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
In an election between two candidates, the can-
didate getting 60% of the votes polled, is elected

by a majority of 14,000 votes. The number of
votes polled by winning candidate is

T YTt % o gU Uk 999 § el S Y
T & 60% A W< hich Th RN 14,000
Tl | fasEt geml S o Yt g1 fe
U A BT W R
(1) 28,000  (2) 32,000
(3) 42,000  (4) 46,000

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
A batsman scored 110 runs which included 3
boundaries and 8 sixes. What per cent of his to-
tal score, did he make by running between the
wickets?
Toh SeedsTst 3 110 T S1g TS 3 Siieh qen 8
Tk gl ¢l faemel 4 e o % &/a
g & R gfoe @ fasel & o <ed ®

g gAe?

5
(1) 45% (2) 45-%

6
(3) S4-%  (4) 55%

(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
Fresh fruit contains 68% water and dry fruit con-
tains 20% water. How much dry fruit can be
obtained from 100 kgs of fresh fruits?

S B H A T HET 68% q Y@ B H
20% 21 100 fehoTo d Wedl & Fha
W W feRar ST TRl 77

(1) 32kgs./femodTo

(2) 40 kgs. / femodTo

(3) 52kgs./femoTTo

(4) 80 kgs. /femodTo

(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)
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I1.

12.

13.

14.

The number of seats in a cinema hall is increased
by 25%. The cost of each ticket is also increased
by 10%. The effect of these changes on the rev-
enue collection will be an increase of

fordll fom &ia =1 diel &1 S | 25% 6
gfg ® T T fohe & 7ed | off 10% &1
gfg =X X W T dRaaH ® IROTHEEY
o 3@ ¥ 9« g aret o § gfg gefi-
(1) 37.5% (2) 45.5%
() 47.5% (4) 49.5%

(SSC Data Entry Operator Exam. 31.08.2008)
X has twice as much money as that of Y and Y
has 50% more money that of Z. If the average
money of all of them is Rs.110, then the money,
which X has, is
X U9 YH! g § g oA € qen Y
E Z ¥ 50% e SR 1 9% 39 99 w1 ¢
T 1 SEd 110 . 2, &R X & U
IE 7
(1) Rs.55
(3) Rs.90

(2) Rs.60

(4) Rs.180
(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
In a village, each of the 60% of families has a
cow; each of the 30% of families has a buffalo
and each of the 15% of families has both a cow
buffalo. In all there are 96 families in the vil-

lage. How many families do not have a cow or a
buffalo?

T Ma H, 60% IRER § ¥ T&F & UH Th
T §; 30% TRER | § Teh % W Tk 9
2 94 15% TRel § ¥ yde % I" T T
AR TH HG I 2| R HemRe T | 96
UReR B 8 fhad IRER € fSee e 9
T ® AR A E T 9e?
(1) 20 (2) 24
(3) 26 (4) 28

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
If the income tax is increased by 19%. the net

income is reduced by 1%. The rate of income
tax is

g TRt | 19% o1 gfg 31, a1 gened o o
1% 1 HH 81 STl 81 SR hl & B-

1) 6% ) 4%

() 5% @) 7.2%

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)

15.

16.

17.

18.

A man invests a part of 10,000 at 5% and the
remainder at 6%. The 5% investment yields an-
nually 76.50 more than the 6% investment. The
amount invested at 6% is

Tk STRHT 10,000 €I & Teh AW i 5% T
T A H 6% W TRl HE Bl 5% W
frafera wm i 6% W Fafm aufn | wfqed
76.50 ®UT Afereh SeUTE <l 1 6% W FER
R 2
(1) 3,600
(3) 3,850

2) 3,550
(4) 4,000
(SSC CPO S.I. Exam. 09.11.2008)

Ram saves 14% of his salary while Shyam saves
22%. If both get the same savings of Ram?

T S0 a7 & 14% 1 990 K & SER
TIM 22% 1 o4 Bl B ARSI FHE a6
A ® SR T 1540 1 S Ll €l TH i
Tad ferat 872
(1) 990 (2) 980
(3) 890 (4) 880

(SSC CHSL DEO & LDC Exam. 28.11.2010 (Ist Sitting)

In an office 40% of the staff is female, 40% of
the females and 60% of the males voted for
me. The percentage of votes I got was

TH wEEE § 40% Hiea-wd=Er 81 3T 9
40% HfeeTan 3R 60% & 4 W &1 ¥ HagH
e TEIER W Aal 1 Hiawra foRa @12
(1) 24% (2) 42%

(3) 50% 4) 52%

(SSC Multi-Tasking (Non-Technical) Staff Exam. 27.02.2011)
Tickets for all but 100 seats in a 10,000 seat
stadium were sold. Of'the tickets sold, 20% were
sold at half price and the remaining tickets were
sold at the full price of 20. The total revenue
form the ticket sales. in was

10,000 Hi a1t Tk Rfeay ¥ 100 1 Bigat
[t fesme o9 fau MU 399 20% et ST W
fa iR 99 20 ®IC ®T T FHT R oD
TEI9R feshel i fos! § oo fha ®9T fiat?
(1) 158400  (2) 178200
(3) 180000  (4) 198000

(SSC CHSLDEO & LDC Exam. 11.12.2011)

(Ist Sitting (East Zone)
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